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Oos2d &1 10,000, 0003 *304 2 30,000
OAsdE i, 2=+ 1,000, 0003 *6IH 2 6,000
OAIJEX] XH& & A4 100,000, 000& 100,000
O0lHEz Xt T M 50,000,000& 50,000
OXpE S A A A 150,000,000 *4.595/100 6,893
OQuESHSHMH As3t 30,000,000 *14] 30,000
OQuEdtsAd RXE=+ 62,800
olLEDA S SE X WAl 200,000& =501 10,000
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A Z M
¥ (Hsus =4 N

&l WESHEAIE BE (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
o MSHOII WA 7,300,000 104 & 7,300
odls S MOIl B 500, 000& * 1074 2 5,000
o0 ZdES MO 2= 400,000 *x209H 2~ 8,000
o F&I| B 100,000 * 1370 & 1,300
oMOI7IBZS E= 800, 000& *4 4 A 3,200
o=ZFWS4ASI| JHH 28,000,000 170 & 28,000
03 AIZ SR04l 2,700 2,877 AT
Ousetd A8 &X2cd R0
375,000,000% +0.72/100 2,700
HY2IZHI(ZH) 55,454 52,998 2,456
1=l 55,454 52,998 2,456
Jl=3d| 55,454 52,998 2,456
201 Y2 Y| 33,454 31,998 1,456
01 AtE22(H] 31,429 29,973 1,456
Oget=&H| 25,429
o AR ESHI 70,0003 20 *23] 2,800
oEYIRIHI EU 225,000& *10CH *3=] 6,750
oZctZelHIl EU
439,000& *1CH x4 48 %1, 53] 2,634
oS AI ElH 375,000 »1CH 32 1,125
o =SAMEX +¢ 22,0003 x20E 12 5,280
otl2H=E 70,0003 123 840
o RAESSEEHI 25,0003 x20E x12& 6,000
O= &l 6,000
O SCHAREZ IHAHI(SE) 6,000,000& 6,000
02 =234l 2,025 2,025 0
OZ232= ¥ HMAl 2,025
oESRER= 2502 x15001 = 12& 450
o0SIIRER=S 1,750 x 7501 = 128 1,575
202 O4Hl 22,000 21,000 1,000
01 =LA b 22,000 21,000 1,000
OBAREXN HHI(BS) 22,000, 000& 22,000
Hests(Z M) 2,122,500 4,077,500 21,955,000
= 469,000
o= 1,000,000
i 653,500
LHEHCHXIE 2,122,500 4,077,500 A 1,955,000
= 469,000
= 1,000,000
= 653,500
UBHMACIT] =4 1,073,500 3,073,500 2,000,000
L= 1,000,000




A Z M
M RS (ZMD)

&2 WRANHX S (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
i 73,500
701 JIEtRI A &= 1,073,500 3,073,500 22,000,000
& 1,000,000
i 73,500
01 JIEtIHEES 1,073,500 3,073,500 A2,000,000
OXgza OlXta s M= 73,500,000& 73,500
O1000+1000KI A AFSHI &= 1,000,000,000& 1,000,000
= 1,000,000
=X S8 A 80,000 80,000 0
701 JIEtRI AN &= 80,000 80,000 0
01 JIEtSIHEES 80,000 80,000 0
O=x& EE3H 8&3 80,000,000& 80,000
SAZTHes3HA =4 969,000 924,000 45,000
= 469,000
i 500,000
701 JIEtRI A &= 969,000 924,000 45,000
= 469,000
= 500,000
01 JIEtSIHEES 969,000 924,000 45,000
O&ZH2s3HX 24&H 8= 969,000,000 969,000
= 469,000
= 500,000
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